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1.

The largest unit of storage is :
(A) Terabyte

(B) Megabyte-

(©) Kilobyte

(D) Gigabyte

Choose which one is not a linear data

structure ? |
(A) Array
(B) Binary tree

(C) Queue

- (D) Stack

Choose which one is not a network

device ?

(A) Router

(B) Switch-

(C) Hub

(D) CPU

TBC : AKG-APCC-COMMERCE—A

A computer’s clock-speed is measured

in :

(A) Bits and Megabits

(B) Megabytes and Gigabytes
(C) Nanoseconds and Picoseconds
(D) Megahertz and Gigahertz

Wi-Fi stands for :

(A) Worldwide Internet for Fast

information

(B) Worldwide imaging for Intelli-

gence
(C) Wireless Identity for Internet
(D) Wireless Fidelity

NAAC is an autonomous body estab-
lished by :

(o) ICSSR

B) CSIR
() | AICTE

(D) UGC
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7. Tax collected on account of GST is
to be shared between Central Govt.

and State Govt. in the proportion

of :

(A) 60 : 40
(B) 50 : 50
(C) 40 : 60
D) 51:49

8. If P(A or B) = P(B), then :

(A) Events A and B musf be

mutually exclusive events

(B). Events A and B must be.

independent events

(C) P(A) + P(B) is the joint

probability of A and B

(D) Occurrence of event A implies

occurrence of event B

TBC : AKG-APCC-COMMERCE—A
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10.

9.- Which of the following statements is

false, in the context of multiple

regression ?

(A)

(B)

©

D)

Multicollinearity does not

‘reduce the predictive power of

the model

Multicollinearity does not
reduce the effectiveness of
sensitivity analysis of the
model

Multicollinearity reduces the
reliability of the regression
coefficients

Multicollinearity reduces the

‘influence of the individual

variables in the model

In a 1200 metre athletics competi-

tion, an athlete covers the distance

as under :

First 240 metres at 10 mps

Next 720 meires at 7.5 mps

Last 240 metres at 10 mps

His average speed will be :

A)
(B)
©
40))

9.16
9.61
8.33

None of the above
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11. P.E. of r is equal to :

1-r2)

Jn

0.6745

(A)

1+ r2
0.6745
(B) ( T ]

12. Coefficient of correlation, by the

method of concurrent deviation is

given by :

@A)

B) [t n-zc]

(C) = JE|- ]

@) *J* 20%}

TBC : AKG-APCC-COMMERCE—A
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13.

14.

Cyclical variations can be studied by

using which of the following

methods ?

(A) Method of least squares

(B) Link relative method

(8)) Ratio-to-moving“ average
method

(D) Residual method

Normal distribution was first discov-

ered by :

(A) French Mathematician De

Moivre in 1733

(B) German Mathematician De
Moivre in 1833

(C) Swedish Mathematician Carl
Friedrich Gauss in 1877

D)

French Mathematician Carl

Friedrich Gauss in 1777



-

11. » %1 P.E. frus U= ® ?

(1—7?)

Jn

(A) 0.6745

12. TEEFY $ TUNH hl, WA HIE B

fafy gra, &9 fgon S 2

@ * i[2c—n}

& +—n—2c
B) —\I—h .

c—n
n

2c—n
o B

TBC : AKG-APCC-COMMERCE—A

PO

(C) I *

7

13. = fafi=rmeti @ freafafea 4 9 fa

ﬁfugmmﬁvmmm%?
(A) =Fam =it fafy gm

(B) Wy uiaw fafy g

() equm ¥ gfan ofwa fafu g
(D) st fafy g

14. Gg faawor #1 999 98 fRaR auiA

foan ?

(A) wEE Tfas € HgeR A 1733

-
@ i v @ e 3 1833
©) whfen Tivms F1d Wl
3 1877 #

D) HiEE ity we hefie 19 A
1777 ®

P.T.O.



15.

16.

17 .-

Moment coefficients of skewness

are :
(A) B, and By
(B) y; and Yy
(C) By and 14
(D) B and vy

Marshall-Edgeworth’s price index is

a weighted aggregate price index in |

which weights taken are :

(A) Base year quantities

(B) Current year quantities

(C). Average of base yéar and |
current year quantities

(D) None of the above !

Weighted aggregate price index
using the Geometric mean of quan-
tities consumed in the base year and

current year is known as :
(A) - Laspeyre’s Price Index

Paasche’s Price Index

(B)

(C) Marshall-Edgeworth Price
Index

(D)

Walsch’s Price Index

TBC : AKG-APCC-COMMERCE—A
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18.

19."

The equation for computing stand-
ard error of estimate of y on x

is :

>vZ —aSy — bExy -
(A) Jy “rf -

Sx2 — aXx — bIxy
B) n

n

Tx — aZx — b3x?
(D) \F =

Kurtosis was humourously explained

Sy — aXy — bXy? -
(©) ‘fy A

with the help of tails of kangaroos
by :

AM. Tﬁtﬁe

(A)

(B) Max O’ Lorenz

(C) William S. Gosset
(D) Prof. Horace Secrist
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20.

21.

(A)

If every observation in a data set is
increased by a constant quantity,
then the coefficient of variation of the

resulting set of values will be :

Less than the coefficient of
variation of the original data
set

(B) Greater than the coefficient of
variation of the original data
set

(C) Equal to the coefficient of
variation of the original data
set

(D) Equal to the coefficient of

variation of the original data

set plus the square root of the-

- constant quantity

He is the ‘Father of Management’ :

(A) Henry Fayol

(B) Peter F. Drucker
(C) F.W. Téylor

(b) None of the above

TBC : AKG-APCC-COMMERCE—A
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22.

- 23.

24.

(A)

‘Personnel Management’ was

developed as :
(A) A line function
(B) A staff function

(C) A'line and staff function

(D) - A line organ'isation

Labour welfare services are regu-

lated through :

The Factories Act, 190‘8
(B) The Fgctories Act, 1938
(C) The Factories Act, 1048
(D) The Factories Act, 1958

Fringe benefits are also referred to

as :
(A) non-wage payments
(B) service programs
(C) hidden payroll
(D) all of the above
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25. In India, NIPM stands for :

26.

(A)

(B)

(C)

D)

National Institution for

Personal Management

National Institute of Personal

Management

National Institute of Iseréonnel '

Management

National Institution - for

Personnel Management

‘Social Security’ in India is

promulgated via :

‘(A) The Employees’ State |
Insurance Act

(B) The Employees’ Provide‘ﬂt
FundlAct |

(C) The Workmen’s Compensation
Act

(D) All of thé above

TBC : AKG-APCC-COMMERCE—A

27. The term ‘Core Competency’ was

" coined by :
(A) C.K. Prahlad
B) Gagy Hamel
(©) CK.Prahlad and Gary Hamel

28.

12

(D)

together

Neither C.K. Prahlad nor Gary

Hamel

SWOT is an acronym for :

(A) Strengths, Weaknesses, Oppor-

(B)

©

D)

' tunities and Threats

Stable; Weak, Optimistic and

Tacit

Strong, Weak, Optimum and

Tﬁrbulent

None of the abo{re

i~
.'.,;'

-
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29.

30.

“The Principles of Scientific Manage-

ment” is authored by :
(A) Frederick Winslow Taylor
(B) Fre'derick Warren Taylor
(C) Frederick William Tailor
Francis William Tailor

D)

Substantial benefits given to top

. executives at the time of termination

during merger/take-over measure is

called :

"(A) Golden Handshake
(B) Golden Parachute
(C) Yellow Umbrella
(D) Golden Triangle

TBC : AKG-APCC-COMMERCE—A
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31.

32.

33.

Decision for demonetisation was

announced on :

(A) 8th November, 2016 at 8 p.m.
(B) 8th November, 2016 at 9 p.m.
(C) 9th November, 2016 at 9 p.m.
(D) 9th November, 2016 at 8 p.m.

Prior to 2016, demonetisation in

India took place in the years :

(A)

1926 and 1968

(B) 1946 and 1978

(C) 1936 and 1978

(D) 1946 and 1968

NCFE meané 2

(A) National Commission for

" Financial Effectiveness

B) Notibriél Centre for Financial
Education

(C) National Centre for Educa-
tion

(D) Notional Centre for: Financial

Effectiveness
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34. Peter F. Drucker, F.W. Taylor and

35.

TBC : AKG-APCC-COMMERCE—A 16

Henry Fayol were :

(A)

(B)

(C)

D)

American, British and

American respectively

American, British and German

respectively

British, American and

American respectively

American, American and

French respectively

RBI discontinued exchange of old

currency notes at banks on :

(A)

(B)

(&)

(D)

24th November, 2016

30th November, 2016

24th December, 2016

31st December, 2016

36. Newly instituted GST (One nation,

37.

38.

one tax) are decided by :

(A) Goods and Services
Council

(B) Goods and Services
Committee

(C) Goods and Services
Commission

(D) Goods and Services

Control

Central Board of Excise

Customs has

Tax

Tax

Tax

Tax

and

launched GST

awareness campaign named as :

(A) Jigyasa

(B) Aajeevika
(C) Manthan
(D) Aabantar

GST has four tax slabs as :

(A) 5%, 12%, 18%, 28%
(B) 2%, 5%, 18%, 28%
(C) 2%, 5%, 12%, 28%
D) 5%, 12%, 16%, 26% |
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35.

T q

(A) FHHY: |, fafesr 3R et

(B) www: A, ffrw sk s

©) s fafew, sl @R e .

(D) Fo: s, it oiv s

.. (W) 3 g =faaesi

(qz ) N a_e F FE wA Tk

fear o1 ?

(A) 24 F9%=R, 2016

(B) 30 T9=R, 2016

(C) 24 fgum=r, 2016

D) 31 T =R, 2016

TBC : AKG-APCC-COMMERCE—A

17
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5%, 12%, 16%, 26%
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39. The accounting treatment of Labour

40. R 1 i :
O 0 Qorder evel is eqqal to

(A) Preventive Costs are charged (A) Maximum Consumption x

directly to the department and
replacement costs arising on Maximum Reorder Period
account of fault of departments

h d rt of g :
are © a.rge 98 B pore @ (B) .Minimum Consumption x
production overheads and :

apportioned to different Minimurh Yeorder Period

departments
(B) Preventive costs are charged as (0)) Average Consumption x

part of production overheads ‘ |
and apportioned to different Average Reorder Period
departments while replace- 7
ment costs arising on account (D) Minimum Consumption x
of fault of department are
charged directly to the Normal Reorder Period
department ' -

_ (C) Preventive sosts  ° ampg®| . LHEM0 included in cost books only

replacement costs (arising on _
account of fault of depart- ] o

ments) are charged directly to o
the departments ' " (A) Income tax

(D) Preventive costs and

v o4 (B) Loss on sale of fixed assets
replacement costs (arising on

account of fault of depart-

ments) are charged as part of (C) Interest income
production overheads and

apportioned to different (D) None of the above
departments

TBC : AKG-APCC-COMMERCE—A - 18
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42. Over-valuation of opening stock in

cost account leads to :

(A) Less profits in cost books and
more profits in financial bopks

(B) More profits in cost boqks ancllv
less profits in financial books

(C) Less profits in cdst books and
financial books both

(0 Wioke prifilerin cost books and

financial books both

43. Which‘area of HR function is least

affected by internationalisation ?

(A) Training
(B) Recruitment
(C) Succession planning

(D) Equal employment opportunity .

TBC : AKGAPCC-COMMERCE—A
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44. Profit-Volume ratio facilitates the

45.

deterrhination of :

(A) Contribution for any given
sales volume

(B) Profitability of each product,
process or operation

(C) Sales volume for given

. variable costs

(D) All of the above

Standard Hours for Actual Output
'Actual hours worked j

x 100 is :

(A) Efﬁcie;;l;:y ratio
(B) 'Activ'ity ratio
©

Capacity ratio

(D) Calendar ratio
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AR

(B) VS 3K, UfshHan a1 39 I

e RS HEET

©) AT wRed g @ o e

T4

sRfs Wt

D)

areafass frfg & fow A e
W wE ® aatas e | = 100

R ?

(A) <&@ aﬁmﬁ

(B)

D)

P.T.O.



46.

47.

If the value of work certified in a
contract is more than 25% but less
than 50% of the contract price, the

amount of profit to be credited to

profit and loss account shall be :

(A) % % Notional Profit x
Cash Received
Work Certified
(B) % % Notions] Profit =
Cash Received
Work Certified
(C) Nil
(D) None of the above

Marginal costing is useful for :

(A) Long-term planning

(B) Short-term planning

(C) Both long-term and short-term
planning

(D) None of the above

- TBC : AKG-APCC-COMMERCE—A
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48.

49.

Direct Material Price Variance is

equal tq :

(A) Standard Price — Actual Price

(B) (Standard Price — Actual Price)
x Standard Quantity

(8] (Standard Price — Actual Price)
x Actual Quantity’ |

(D) None of the above

In a publishing house, the cost of
production directly attributable to

each book is Rs. 30 and fixed costs
are Rs. 15,000. If each book can be

sold for Rs. 45, then the profit

function shall be :

(A) 30x + 15000

(B) (45x + 15000) — 30x
(C) (45x — 30x) — 15000 -
(D) 45x — 15000




—

46.

o O M 1 o =1 M |

47.

TBC : AKG-APCC-COMMERCE—A 23

(A) g x AES (=) @Y x
Yo ehat
(B) % x_ ARTEA (-,é%rﬁ?ﬁ) MY x
EaC R IR
(C) % &l

TS Y § F1E FHIVG 1 Jod Al

I I & 25% W Afw § W 50%

Y HH T I AY T BH W SE

(D) SEF H ¥ ®E T

= Jedied T fau avgres
¥ ?

(A)  TERTEAE SRS

(B) 3ICUhIC SIS

(C) Trefepreld o IeqswTelT T4l

S IDISEID]

(D) ST d | w8 T

48. el vetd Hod o fhush e B

49,

T ?

(A) UNF T - arEfas qed
(B) (WI@—W@)‘X
T T

(©) (A Y — SRdfash e d) x
D) =wdw H ¥ FE T
wwmﬁ‘mﬁ-—rwsﬁ
TSIy 9 § YIS fhae W AR

30 % ¢ 3R fer 7w 15,000 . R

| uft % fra WY 45 % § A=

a oy w8 E
(A) 380x + 15000
(B) (45x + 15000) — 30x

(C) (4bx — 80x) — 15000

D) 45x — 15000

P.T.O.



50. The indefinite integral for J.x3 dx

51.

52.

B)

shall be :
(A) 1 +e
o
(B) ? 4@
© Zic
4
| 4
D) Y

Credit rating indicates :

(A) Operating risk of the entity

Financial risk of the entity
(C) Comprehensive risk of the
entity
(D) Risk of the financial

instrument

How many credit rating agencies are

there in India ?

A 3
B) 4
© 5
(D) None of the above

TBC : AKG-APCC-COMMERCE—A
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53.

54.

In India, credit rating agencies are

governed by :

(A) RBI
(B) SEBI

(C) RBI and SEBI both

(D) None of the above

The committee to ‘Review

Governance of Boards of Banks’ in

India was headed by :

(A) P.J. Nayak
(B) Urjit Patel
(C) Raghuram Rajan

(D) C. Rangarajan



(A)

(B)

C)

(D)

1. e e e it |

T2
(A)
(B)
(©)

)

52, e e Pt e e fe

%2

(A)

®)

©)

D)

freera =1 fasim Sifem

frerra 1 yeem Sfew

frem =1 = Sifem
forsfta TR w1 Sfem -

3
4
5

I B A B

- TBC : AKG-APCC-COMMERCE—A 25

53.

54.

s g P et fr
fres g @ ¥ 2

(A) IR

®) e

(©) swaam. ok i -@r:ﬁ
D) wgaa i3 :,gf
mmmmm@m' |
m_ﬁ? St ) § Wi w1 g '

forash grn gom a1 2

@A) B T

®) R Rw
(C) T T

(D) ¥t TREH

P.T.O.



55.

56.

How much equity capital is required

under Basel III over Basel II if
capital conservation buffer is

included in CAR requirements ?

(A) 4%
(B) 2%
(C) 7%
M) 5%
The NPA provision coverage

stipulation set by RBI for Indian

Commercial Banks is :

(A) 50%
(B) 60%
(C) 70%
D) 80%

TBC : AKG-APCC-COMMERCE—A
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57.

58.

Banks are more concerned with
management of assets instead of

liabilities because :

(A) Assets are more important

(B) RBI stipulates it

(®) .C'an’t refuse depoéit 'inbﬂo"w
which is major chunk of fheir
liabilities

(D) None of the above

How many Governors preceded

Governor Urjit Patel of RBI ?

(A) 22

(B) 23
C) 24
D) 21



i

- 55. SH-II & SR S8A-111 = 3=<ria T
W G H AEvEar 2t afe @i
WA 8
(A) 4%

B) 2%
(C) 7%
D) 5%
4 .
56. R wfeg T & faw aR.at.eTE.
BN wrfﬁa WG gay iy aaga:u
fore & 2 | |
(A) 50%
(B) 60%

©) 70%

(D) 80%

TBC : AKG-APCC-COMMERCE—A 27

57.

58.

S, 7T H T G B gEA @ fog

s Fafaa § iR -

(A) wwfwal sifyew weegel ¥

B) RS T Y B §

(© Wmﬁaﬁm?ﬁﬁm
et

D) SR T q ®R T

s wet & e amAlom. $ e

TaA B ¥ ? |

A) 22

(B) 23

©) 24

D) 21

- P.T.O.



59. In which year was Reserve Bank of

61.

TBC : AKG-APCC-COMMERCE—A

India enacted ?

(A) 1935
(B) 1955
(0 1934
(D) 1948

CRR (Cash Reserve Ratio) is based

on :

(A) Capital of Banks

(B) Deposits

(C) Demand and time liabilities
(D) Loans and advances

Minimum members required for

formation of a Public Limited

Company are :

A) 2
B) 3
C© 5
™ 7

-28

62.

63.

64.

Which of the following is not a
Clause of the Memorandum of

Association ?

(A) Name

(B) Object

(C) Directors

(D) Subscription

As per Cdmp.anies Act 2013, the
maximum number of directorships

held by a person must not exceed .

(A) 10
(B) 15
(C) 20
D) 25

Inadequacy of considerations is
relevant for determining the case

of :

(A) Free consent

(B) Fraud

(C) Undue influence
(D) None of the above



59.

60.

61.

©)

yds fiod S w9 wenfua gen o ?
(A) 1935
(B) 1955
1934
D) 1948

Harar. (3w fiod W) (TR
fiord arua)fra W euf@ § 2

(A) Sl I g=fa

B) SH

(C) Wi R §Hg <

(D) =9 R AW &=

greNye Taffea s & fofo & fag

=an o o=l @1 servEshal gl
¥ 2 |
A 2

(B) 3

© 4-5

o 7

TBC : AKG—APCC-COMMERCE;—A
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62.

63.

64.

- (B)

frafafea § @ 99 & 99 ® 99
fram (iiew oife TEfadvE) #1 &
oA 7 ?

(A) ™
EAiE
ey

(D) TEfFIE (TEH)

(B)

©

FHrgt arfufem 2013 F FER T&F =@
% PrRye o9 &1 afusan den fwas

¥ fys w1 o =few ?
A) 10

B) 15

(©) 20
(D) 25.
farar @Y sqataa e A @ faio
# gama & ?
(A) T WeRfa

B-THE Jhe
(C) alj’r%mwram"
D) svEF § § wE T

P.T.O.



65. Prospectus is valid for a period of | 67. Itisnot the duty of the seller to point

........... days after the date on which out defects in his own goods. This is
a copy is delivered to the registrar. popularly called as :

A 30 (A) caveat emptor

(B) 60 ' .(B) caveat venditor

© 90 (C) caveat lector

- (D) 45 ' (D) none of the above

66. An agreement enforceable by law is | 68. EGM can be called by :

a/a;l : ‘ (A) Board of Directors
- 1A)  oder (B) Board on the 'requisitiqn of
(B) contract members
(8)) consideratién | (C) Requisitionists
(D) acceptance (D) All of the above

TBC : AKG-APCC-COMMERCE—A 30



—

65.

66.

TBC : AKG-APCC-COMMERCE—A 31

foeor 9, ST T WA B TR B
urg - 2 =1 fafy B mg e Pt

#1 eafy & fog Sy A

(A)" 30

B) 60

© 90

D 45

fafer R0 s oF W T 7
(A)

(B) oSy

(¢ fo=rR

D) it

67. T B WHM W HHAT Feprer fashar

ST ®

(A) TR TEuE (SR )
(B) fada wewH (S F<ER)
(© A W (e A

D) TR F F H T

68. s‘-eﬁqq fros g gArt S wEd

€2
A Ry % € g
(B) W= & A W € g

(C) WRTRAlS g

(D) SwiE

P.T.O.



69.

70.

The number of depositories operating

in India presently are :

(A) One
(B) Two
(C) Three
(D) Five

A group of people representing a

common interest in a matter may sue

or be sued. As per Companies Act,

2013, this provision is called :

(A) Multiple law suits
(B) Collective suit

(©) Cléss action suit
(D) None of the above

TBC : AKG-APCC-COMMERCE—A

32

71

72.

Any expense that provides benefit for
a period of less than twelve months

is called :

(A) Capital expense

(B) Revenue expense
(C) Deferred expense
(D) None of the above

Schedule III Part I of the Companies

Act, 2013 deals with :

(A) Format of: Balance Sheet
(B) Statement of Profit and Loss
(C) Format of Cash Flow

(D) None of the above



69.

70.

TBC : AKG-APCC-COMMERCE—A

gda # wra # wafda =nfad S @
e

A) T

B) A

© @

D) =

fordt oS § T § W & foan s
3 T Fﬁ'ﬁmmﬂaﬁmwaﬂ

&A1 T A/3E TE W THSH Tl T

T ¥ | T SfafEE 2013 B ITER

gawawaﬁaﬁwwm%?
(A) azﬁfagaﬁﬁ

(B) wMHfed HHIH

(&) a’ﬁmtfam"raaﬁm

D) SgF # § =5 T
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71. 98 @@=l S 12 @Al ¥ w9 * I@fy

& fou oy WA T ¥, T FEar

'%?.

A) Ut ==
(B) el @t
() faafaa @t

D) 3w # § FE @

79. TR SfufEd 2013 F STER-III,

m—l,ﬁ@mrz&m%?
(A) TEA-TH H AEI

B) v AR @ F= d@ famTw
(©) T TEE F TE

D) _mﬂmﬁa#@ﬁz‘f

P.T.O.



73.

74.

DuPont Analysis examines the
............. ratio by analyzing profit

margin, total asset turnover and

financial leverage.

(A) Return on Equity

| (B) Return on Assets

(C) Debt to Equity Ratio
(D)

Quick Ratio

Quick ratio is 1.8 : 1, current ratio
is 2.5 : 1 and current liabilities are

Rs. 60,000. Determine value of

stock :

(A) Rs. 54,000
(B) Rs. 42,000
(C) Rs. 60,000
(D) Rs. 48,000

TBC : AKG-APCC-COMMERCE—A

34

75.

76.

The ideal debt-equity ratio is :

A 1:1
(B) 1:2
€ 2:1
D 3:4

Collection of debtors :

(A)

Decreases current ratio
(B) Increases current ratio .

(C) Has no effect on current ratio

(D) None of the above



73.

74.

e W, e wefd seaed iR fasia

IIeTeh YTkl ohT forgersior &hid gU, SO

fid I9d 1.8 : 1 ¥, =g 37U«

25:1 % 3R =190 2T 60,000 T ¥

hm%{@wﬁaﬁwﬁﬁq:

(A) 54,000 %.
(B) 42,000 =.
(C) 60,000 =.

(D) 48,000 =.

TBC : AKG-APCC-COMMERCE—A

75. SRR RO-WEgfE IH9E ¥ ¥ ?

(A)
(B)
(©)

(D)

76. HER w1 GO

(A)

(B)

(C)

(D)

35

=Te] 3T H OHHt Al

a@a@mﬁa&ﬁaﬁm%

1] AU H Ig hig U TRl

Sude # @ g A

P.T.0.



71.

78.

If sales = 1,20,000, equity capital =
10,00,000 and gross profit = 30,000,

then gross profit ratio is :
(A) 12%
(B) 25%
©) 30%
D) 3%

Ind~ AS 7 deals with :

(A)

Inventories

(B) Statement of Cash Flows

(C) Related Party Disclosure

())) | Interim Financial Reporting

TBC : AKG-APCC-COMMERCE—A

36

79.

80.

(B)

D

Indian Accdunting Standard (Ind-

AS) are issued under the supervision

-of :

(A) ASB

(B) FASB
(C) IASB
(D) None of the above

GAAP stands for :

(A) Generally accepted accounting
principles

Generally accepted accounting
policies

(C) Globally accepted accounting
principles

Globally acceptéd auditing

policies



—— -

77. At fawa = 1,20,000, shad st =
10,00,000 2R A &1 = 30,000, T3

TEHA N I F B 3
A) 12%
® 2%
© 30%
D) 3%
78. IndAs_7mawﬁqa% ?
(A) A9
(B) #&G we™ w1 =N
(C) uwifya el YRR

(D) rafe fadig g

TBC : AKG-APCC-COMMERCE—A 87

79.

80.

g en WEE (Ind-AS) fEas

qdqeror & of<id By W ¥ 2
A) TuE

(B) TUH.U.UH. .

(C) aE.u.uh.st.

D) swdw § ¥ W T

GAAP (Stuwdl.) =1 ¥ 21 §.?

(A) T RS wwefen fufafies

(m@ﬁa@f«m)

(B) mmmm

(Wztaﬁqraé@ Hifeal)
(©) mmmm

(%\ﬁwvzaﬁga e fagr)
& mmmm -

(Wwamﬁm)

P.T.O.



81. Rulers of which of the following two | 83. When did Kinnaur become a separate
principalities were not given the title district ?

of Raja (around 1909 A.D.) ?
(A) November, 1959

(A) Jaswan and Datarpur
(B) May, 1960
(B) Siba and Nadaun
| (C) April, 1961
(C) Nurpur and Kutlehar

(D) July, 1961
(D) Kutlehar and Lambagraon

) ) 84. When was the capital of Kehlur
82. Among the following which one was

Seated 15 the H'P. Vidban Sabia princely state shifted from Sunhani

= ; ‘ Bilaspur ?
maximum number of times ? to P

(A) Ashé Ku;:nari - (A) Around 1650-56 A.D.
(B) Viplov Thakur (B) Around 1660-65 AD.
| (b) Vidya Stokes (C) Around 1665-70 A.D.
(D) Shyama Sharma | (D) Around 1670-76 A.D.

TBC : AKG-APCC-COMMERCE—A 38
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81,

82.

TBC : AKG-APCC-COMMERCE—A 39

(@A)

1909@3%@@11-@%1:%{?@313@
frdt < feamedt & Wt B T w=
oty & < E ?
(A)_Gm‘oiiaﬂ?w

® o i

(©) waﬁtw

(D) RS R TEWE

ﬁﬁfaﬁaﬁﬁaﬁﬁﬁu.ﬁmamﬁ -

fou waifus IR T W ?
ST HHRT
B) farem R
(C) ﬁﬁlﬁ@"ﬂ?

(D) v It

83.

84.

IR e 37 TS s 2
(A) =R, 1959
(B) g, 1960

(C) 3¥s, 1961

D) I, 1961 .

FeeR Famwa &t USar we Rl a
o fowe # & W ?

(A) 1650-56 THAT F SH-T
(B) 1660-65 %H?ﬂ # o
(C) 1665-70 St & M-I

(D) 1670-76 ZHSl & STH-TH

P.T.O.



85. At which place in Sirmaur District | 87. When was Moravian Mission set up

Of H.P. is Bala Sundri temple ? ) in Lahaul area Of H.P. ?
() Dadahu (A) 1853 AD.
(B) Renuka '
(B) 1859 A.D.
(C) Rajgarh :
(C) 1861 A.D.

(D) Trilokpur
(D) 1867 A.D.

" 86. In which year was H.P. Agricultural/
‘ 88. In which district of H.P. is Jubehar
Horticultural Produce Marketing Act

watershed project ?

enforced ?

(A) Hamirpur
(A) 2004 T
(B) 2005 (B) Bilaspur
(C) 2006 (C) Una
(D) 2007 (D) Solan

TBC : AKG-APCC-COMMERCE—A 40



gt

85. =ren gl Afey few. & foulk frd § | 87. W & wga &% # faw oo Anfamm

fom wm w v ? ' e =t o @ ?
-(A) {4 : (A) 1853 st #
(B) upa '_ | (B) 1859 ¥t
(C) TTE . | | (C) 1861 $wat H
(D) ~fairg D) 1867 éﬁaﬁ #H

86. fog o fe.y. Ffy/arfet Seaes faavm | g8, wiwe arws W fey. & frw R

., R T E - FE?
(A) 2004 # | | @A) wRE
(B) 2005 # - ®) FrmEg
(C) 2006 # - =
D) 20671}‘ ) ﬁm

TBC : AKG-APCC-COMMERCE—A 41 : P.T.O.



89. Among the following which one is not

90.

included in the category of OBC

according to 1994 H.P. Govt.

notification ?
(A) Mirasi
(B) Nai
(C) Madari

(D) Dhobi

Keshang and Kerang streams are the

-

tributaries of :

(A) Ravi

(B) Sutlej
(C) Beas

(D) Yamuna

TBC : AKG-APCC-COMMERCE—A.
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91.

92.

Which sanitation campaign was
replaced by Swachh Bharat Mission

(Gramin) ?
(A) Nirmal Bharat Abhiyan
(B) Rajiv Swachh Bharat Abhiyan

(C) Indira Swachh Bharat

Abhiyan
(D) Swachh Gramin Abhiyan

Who is the Vice-chairman of Niti
Ayog - (Sept. 2017) ?

(A) Rajiv Kumar

(B) Kiran Kumar
(C) R.XK. Singh | :

(D) Dina Nath Batra



L

89. f&9. THR &I 1994 = =T =+ | 91. w=s yRa favw (wrfor) ¥ forg awi

IR Frafafea § $=a s =t T S

goft § 7@ T ? |

A) frda wra sfvam
A) fos

(B) USia @W=3 ¥Rd f9am
(B) TE
' (©) 3feT W WRA SE
(C) R

(D) W= T EH
(D) it

92. #fifa s % SweAw %A ¥ (faaww,
90. I SR FT7 STAURIY fohwert Tera

\ 2017) ?
T2

(A) mﬁaw
a) o A
(B) wae Gl
D) T ‘ (D) <HEFY A

TBC : AKG-APCC-COMMERCE—A 43 | P.T.O.



e

93. According to a March, 2017 survey | 95. Which of the following is not a

by Transparency International as member of the Election Commission
reported in vForbes magazine, what of India (Sept., 2017) ?

is India’s rank in corruption ? (A) Sunil Arora

(A) First (B) O.P. Rawat

(B) Fourth (C) AK. Joti

(C) Sixth (D) Nasiin Zaidi

(D) Tenth 96. To which country does the girl who

94. According to RBI’s report what is mastermind behind the Blue

percentage of demonetised currency Whale Game belong ?

has come back into the systém ?

(A) Japan
(A) 81 percent

(B) Russia
(B) 89 percent

(C) France
(C) 93 percent

(D) UK
(D) 99 percent v

TBC : AKG-APCC-COMMERCE—A 44



93, gERREl $ETWIE G A 2017 AFY | o5 frmferfior & @ w1 W T s

T FEGU & AR, Tt i wraw |
1 e T8 ¥ (faa=r, 2017) ?

AR Uit § S0 §, YR W 9 QWi

F FF ¥ 2 A T e
(A)  TEe | (B) oMWt &
B) e ©) . T T
(C) =

| (D) A St
(D) T&&

96. = ¥ N9 Y URHTY A FTe TTSH
94, IR.&.3WE. & RAE & {uUR ve A |

¢ ot sl vt ot Pl .- fFamw T 2
" M TR 7 @
(A) 81 wfavm

B) &
(B) 89 wfavw

(C) wiH
(C) 93 wfavE

@D I
(D) 99 ufwmE %

TBC : AKG-APCC-COMMERCE—A 45 P.T.O.



97.

98.

Approximately how many cities in
the world are on the UNESCO list

of heritage countries ?

(A) 75

(B) 150
(C) 200
(D) 250

What name has been given to the
fierce hui'ricane that rose from the

gulf of Mexico that swept through

4 the Texas state of the U.S.A. around

September 2017 ?

(A) Katrina
(B) Harris
(C) Harvey
(D) Horror

TBC : AKG-APCC-COMMERCE—A
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99. Which country’s President is Michel

Temer ?

(A) Belgium

(B) Brazil
)

Mexico

(D) Bolivia

100. Who is the C.E.O. of 2018 Common-

wealth Games ?

(A) Mathew Phelps

(B)

Adrian Tutuianu

(C) Mark Peters

(D) Amber Rudd



97.

TR F TR wEd g § T
frar TR ¥ 2
(A 75

(B) 150

- (C) 200

98.

TBC : AKG-APCC-COMMERCE—A

D) 250

Afras &t @t ¥ faa=r 2017 &
AU MY WAHT THMA H! Fa st
%éaamwﬁuﬁmwrﬁ,w

T fem T ¥ ?

(A) wHW

(B) =

©C) =&

D) =
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(D)

99. TEHT YW fru W B TeAfd ¥ 2

A) SfecsEd

(B) wSIA
(C) Hfsen

(D) <ifefaan

100.99 2018 $Hall H 811 =) ShiATaed Wl

% ddel &9 € ?4
(A) Hyg Hheaw
(B) sifgam gaeT
"k e

©

TR ST

P.T.G:



